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Atomic Energy Central School # 4, Rawatbhata 
MCQ Test          Date : 5.08.2019 

Name of the student : ______________ Class-IV  Sec. ____ Roll No. ___ 
___________________________________________________________ 
Q1. Circle the correct spelling. 
 a) Breeze  b) Breeje  c) Brize  d) Breez 
 
Q2. Correct meaning of the word 'amazement' is      
 a) Talking informally  b) Protecting from attack  
 c) Happily and proudly  d) Great surprise 
 
Q3. Nasruddin boasted about his  
 a) Skills  b) Experience c) Knowledge d)Achievements 
 
Q4. Which of the following words do not rhyme with the word 'City'?    
 a) Pity  b) Witty  c) Kity  d) Silly 
 
Q5. Where do we play cricket? 
 a) Stadium b) Court  c) Table  d) Track 
 
Q6. About which sport the people are talking about in the lesson   
 "Nasruddin's aim"? 
 a) Football b) Cricket  c) Shooting d) Archery 
 
Q7. In the poem 'Run' what does the poet want us to do? 
 a) Swim  b) Walk  c) Run  d) Talk 
 
Q8.  Use an appropriate connector in the following sentence. 

       Grandpa ________ grandma get up early in the morning. 
 a) But  b) because  c) or  d) and 
 
Q9.  Word  'googly' is used in which sport? 
  a) Hockey  b) Cricket  c) Football d) Archery 
 
Q10. Replace the underlined word with the word which means the same. 

        In no time she hit the object she aimed at. 
 
 a) Target  b) Certainly c) Amazed d) Defend 
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Q11. �वाजा साहब ने बीरबल से �कतने सवाल पूछे थे ? 

 a) 1   b) 2   c) 3   d) 4 

Q12. �दनेश �या खोज रहा था ? 

 a) कापी  b) �कताब  c) कलम  d) ग"द 

Q13. फुटबाल �कस चीज से बनी होती है ? 

 a) रबर  b) (लाि*टक c) चमड़ा  d) लोहा 

Q14. शु, – शु, म" पापा �या बनना चाहत ेथे ? 

 a) चौक/दार  b) कु0ता  c) आइस3/मवाला d) शं�टगं करनेवाला 

Q15. �कस मौसम म" गरम-गरम ल ूचलती है ? 

 a) सरद6   b) गरमी  c) बरसात  d) कोई नह6 ं

Q16. घूसँ का �या अथ; होता है ? 

 a) <ब=ल6  b) कु0ता  c) शेर  d) बड़ा चहूा 

Q17. जमाल साहब क/ पोशाक कैसी थी ? 

 a) चमक/ल6 b) भड़क/ल6 c) साधारण  d) पुरानी 

Q18. नसी,Aीन अपने दो*त जमाल साहब को कहाँ घुमाने ले गए ? 

 a) मेला  b) मोह=ला  c) बाजार  d) शहर 

Q19. सरकंड ेसे बनती �या बनता है  ? 

 a) घर  b) चारपाई  c) टोकर6  d) द6वार 

Q20. माँ क/ बहन को �या कहत ेहD ? 

 a) मौसी  b) मामी  c) नानी  d) दाद6 
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Q21. The number of vertices in a brick is _____ 

 a) 6   b) 8   c) 10  d) 12 
 

Q22. Shape of each face of a dice is 

 a) Circle  b) Triangle c) Square  d) Rectangle 
 

Q23. If the cost of 500 bricks is Rs.2000, then find the cost of 1500  

       bricks. 

 a) Rs4000  b) Rs3000 c) Rs6000  d) Rs2000 
 

Q24. Long distances are measured in 

 a) Kilometre b) Centimetre c) Decimetre  d) Metre 
 

Q25. 1000 metres = 

 a) 1km  b) 1m  c) 1cm  d) 10km 
 

Q26. Solve 6m 25cm + 10m 15cm = 

 a) 6m40cm b) 6m25cm c) 16m40cm d) 16m25cm 
 

Q27. 9 km 695 m=_______m 

 a) 90695m b) 9995m  c) 6959m  d) 9695m 
 

Q28. Sum of smallest 5 digit number and greatest 4 digit number is 

 a) 9990  b) 19999  c) 29999  d) 9999 
 

Q29. A frog jumps up 4 stairs and slips 3 stairs down in 2 minutes.  

       How much time will it take to jump up to the 5th stair? 

 a) 10min   b) 5min   c) 1min  d) 3min 
 

Q30. 36+64+500+1100 

 a) 1600  b) 1300  c) 1500  d) 1700 
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Q31. To go across some water bodies, we use- 

a) Bridge  b) Camel cart  c) Jugaad  d) All of these 
 

Q32.  How the birds hear? 

a) Help of external ears    b) Help of super senses 

c) Tiny holes on both sides of their head d) None of these 
 

Q33. An elephant can eat in a day- 

a) Can eat 10 kg of leaves and twigs 

b) Can eat 20 kg of leaves and twigs 

c) Can eat more than 100 kg of leaves and twigs 

d) Can eat 30 kg of leaves and twigs 
 

Q34. Omana used to cross the water and reach the other side by - 

a) Ferry  b) Cruise   c) Bike  d) Train 
 

Q35. The litchi trees come to flower in month. 

a) December b) October   c) February d) September 
 

Q36. What did Amrita do when the man was about to cut the tree ? 

a) She started crying    b) She was very happy to see 

c) She hugged the tree   d) She did nothing 
 

Q37. Why could not Radha go with Omana ? 

a) She changed their mind   b) She made a plan to go to Goa 

c) She had fractured her right leg d) She had fractured in both legs 
 

Q38. The route from Goa to Kerala has a total of bridge and tunnels. 

a) 1000 bridges and 200 tunnels   

b) 2000 bridges and 92 tunnels 

c) 1500 bridges and 100 tunnels   

d) Five hundred bridges and 50 tunnels 
 

Q39. Mother's elder sister is called in Malayalam. 

a) Ammumma    b) Valiyamma  

c) Grandmother    d) All of these 
 

Q40. From which station Omana started their journey. 

a) Gandhidham  b) Kozhikode c) Kerala  d) Ahmedabad 


